Data Structures Exam Questions Mark Scheme
1.  - dynamic data structure can alter size dependent upon the number of items stored 
/ a static data structure remains a fixed size throughout its use.

- dynamic: list/tree

- static: array 
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2.  (a) -Array

-Compiler can allocate memory space during compilation

-Easy to program

-Easy to check for overflow

-Allows random access

(b) -Linked list/stack/queue/tree

-Only uses space necessary at any given time

-Does not produce overflow

(1 per -, max 2 per example, max 2 advantages, max 4) 
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3. - advantage is that the programming is simpler/can be used as a validation check on number of students

- disadvantage is that large amounts of storage taken up even if there are few students/college roll can never exceed 1000/takes a long time to find a name. 
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4. - Array may become full because of a lot of print jobs being sent together/end of lesson

- Linked list does not needlessly take up space in memory

- Print jobs may be inserted into queue if they have a high priority.

(1 per -, max 2) 
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